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Introduction

* Outline for the event:

» General principles of marking
* Break
» Marking exercises

+ Q&A

r
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Types of marks

* M (eg M1): Method marks for a correct method that could lead to a correct
answer.

* A(eg A1): Accuracy marks are awarded for correct answers following a
correct method. It is not always necessary to see the method to award the
accuracy mark(s).

» B (eg B1, B2): Marks awarded independent of method, such as measuring
the length of a line. B marks are also a type of accuracy mark so they
cannot be awarded, for example, if the measurement is incorrect.

* Ft (eg B1ft or A1ft): Follow through marks, awarded as the correct final
answer following a mistake in an earlier step.

o
4 Copyright © 2022 AQA and its licensors. All rights reserved. AQA




Types of marks

» SC (eg SC1, SC2): Special case marks. Awarded for some common
misinterpretation which has some mathematical worth. SC1 means 1 mark,
SC2 means 2 marks and so on. Students don’t get M marks on top of this.

* Mdep (eg M1dep): A method mark that can only be awarded if the previous
mark has been awarded.

» B dep (eg B1dep): A mark that can only be awarded if a previous
independent mark has been awarded.

r
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Awarding method marks (M)

A correct method shown will always get the mark, irrespective of their answer.

For example,

9 (b) An Adult membership fee is £120

A Junior membership fee is -;— of the Aduit fee

Work out the total membership fee for 2 Adults and 3 Juniors [3 marks]
Q Answer Mark Comments
2 x 120 or 240 M1 oe
@ x)é x 120 or 24 or 72 M| %
312 Al SC2 528

r
6 Copyright © 2022 AQA and its licensors. All rights reserved. AQA"




Awarding method marks (M)

9 (b)

An Adult membership fee is £120

1
A Junior membership fee is 3 of the Adult fee

Work out the total membership fee for 2 Adults and 3 Juniors

M1
fizo x 2 = 260

[3 marks]

M1 /202Y =506
2x tige + 3x SO

s ¢ 2610 A 0"

b) An Adult membership fee is £120

1
A Junior membership fee is 3 of the Adult fee.

Work out the total membership fee for 2 Adults and 3 Juniors.

MO

[3 marks]

2 adkdfs = +£260
—{ Jusior=fSo MO

e« 410 A O
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Awarding method marks (M)

9 (b)

An Adult membership fee is £120

A Junior membership fee is -;; of the Adult fee

Work out the total membership fee for 2 Adults and 3 Juniors

(3 marks]
120 Misrios
M1 20
2o 2L0
3L
24

7%
msver € 7;087&2

9 (b) An Adult membership fee is £120

A Junior membership fee is ?1; of the Adult fee.

Work out the total membership fee for 2 Aduits and 3 Juniors.

[3 marks]

Avswer € 2/,‘,0 M1
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Dependent marks (M1dep)

They must first score a previous mark before they qualify for this mark.

For example, Nov 2020, 8300/2F, Question15

15 Mortar is made by mixing cement and sand as shown
Alternative method 1
For every 1 kg of cement used, add 4 kg of sand 150 x 0.19 o 28.5(0) M1 | oe egworking inpence
Cement costs £0.19 per kg 4% 150 x 0.07 or 42 i | o8 egvorking in pence
Sand costs £0.07 per kg 70.5 implies M2
Tomasz uses 150 kg of cement to make some mortar. 70.50 Al allow £70.50p
Work out the total cost of the mortar [3marks] | Alternative method 2
0.19+4 x 0.07 or 0.47 M1 oe eg working in pence
150 x their 0.47 or 70.5 Midep |) oe eg working i pence
70.50 Al allow £70.50p
o
9 Copyright © 2022 AQA and its licensors. All rights reserved. AQAJ
15 Mortar is made by mixing cement and sand as shown.
For every 1 kg of cement used. add 4 kg of sand
Cement costs £0.19 per kg
Sand costs £0.07 per kg
Tomasz uses 150 kg of cement to make some mortar.
Work out the total cost of the mortar.
[3 marks]
O-19 +2.87 = 2.06 M1
15 Mortar is made by mixing cement and sand as shown.

O0.0F x& = 2.83
T ‘/')ﬁ XI5 = 59 For svery 1 kg of cement used, add 4 kg of sand

_Mdep 1 Cement costs £0.18 per kg

Sand costs £0.07 per kg

Tomasz uses 150 kg of cement to make some mortar.

Work out the total cost

Answer £ qu_A 0 - [3 marks]

[5D% 4

o

r
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Dependent marks (M1dep)

15 Mortar is made by mixing cement and sand as shown.
For every 1 kg of cement used, add 4 kg of sand
Cement costs £0.19 per kg
Sand costs £0.07 per kg

Tomasz uses 150 kg of cement to make some mortar.

Work out the total cost of the mortar
[3 marks]

15 Mortar is made by mixing cement and sand as shown

For every 1 kg of cement used, add 4 kg of sand

Cement costs £0.19 per kg
Sand costs £0.07 per kg

Tomasz uses 150 kg of cement to make some mortar.

Work cut the total cost of the mortar,

(3 marks]
ansver ¢ £SO M 17 %Es_M 1
Mdep 1 —  Mdep1
Al AO
11 Copyright © 2022 AQA and its licensors. Al rights reserved. AQAg

B marks

B marks are in the mark schemes for things that can be worked out without a
method eg, measuring a line, a bearing, or stating a fact.

14 (a)  Use your calculatorto work out  9.95% x 29.8
Give your answer as a decimal.
Write down your full calculator display. [1 mark]

2950.2745(00...) ‘ B1 \

Additional Guidance

14(a) | 2'950.2745 or 2,950.2745 B1

29502745 BO

Allow correct rounding or truncation once full value seen

r
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B marks

14 (a)  Use your calculator to work out 9.95% % 29.8
Give your answer as a decimal.
Write down your full calculator display.

e 2950275 B 1

14 (a)  Use your calculator to work out
Give your answer as a decimal.
‘Write down your full calculator display.

[1 mark]

2950 2%s

Answer 2%50-l B 17
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Accuracy marks (A or B)

Awarded for reaching the correct (final) answer.

M1 M1 of
_— 40.5(0) and 20
M1 .
M1 Mi 45and 24

or

30:16
M1dep - -

M1dep 45:24

M1

eg 45 : 24 is the final ratio seen

45 and 24 chosen
¢
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Accuracy marks (A or B)

1.5 = 1000 or 1500

M1 oe

500 ~650 or 850

M1dep | oe eg 1000 - 650 + 500

850 millilitres

A1l oe eg 850 ml

A bottle contains 1.5 litres of water. 12
850 milliitres of the water is poured into a jug

How much water is left in the bottie?

State the units of your answer.

A bottle contains 1.5 litres of water.
850 milliltres of the water is poured into a jug.

How much water is left in the bottle?

State the u i answer
M1

[3 marks)

[3 mark
_I-5-(so = 8soM 1 L5x 100D = | SC08
Mdep 1 15000 -GSO
P __Mdep 1
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“Their”

An incorrect evaluation of any correct method may be used in the next step.
For example, Nov 2019 8300/2F, Question 10

10 A group of students were asked to name their favourite burger.

The pictogram shows the results.

The key is missing.
Chicken

© 0 O ¢
et O O © O O O

Turkey G

40 students said Veggie.

wie O O O O O

How many students said Chicken?

[3 marks]

40+50r 8

may be seen on diagram eg 8 in one of
M1 the circles or as a key

implied by (] =4

oe calculation that would evaluate to 28

or .m eg8+8+8+4 or 3x8+4
" their 8 or theird =7
their 8 + their 8 + their 8 + -
28 Al
r
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“Their”

10 A group of students were asked to name their favourite burger. 10 A group of students were asked to name their favourite burger.
The pictogram Shows the: fesults. The pictogram shows the resulls.
The key fs missing. The key is missing.
ciken [ D @ @ ( eien | O O O (
e O @ © @ O © e | © @ @ O @ ©
Turkey Q Turkey :]
ve @ © © © © vae 1 © ©@ © O ©
40 students said Veggle 40 students said Veggle:
How many studk ken? How many students said Chicken?
M 1 [3 marks] M 0 [3 marks]
4p =5 = b _XEXC
7T e
w21 A O - 21 AQ
o
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“Their”

10 A group of students were asked to name their favourite burger
The pictogram shows the resuits.
The key is missing.
‘ Chicken O ( O G
Bauf G O O O () o
Turkey G
w66 60 MO
40 students said Veggie.
How many students said Chicken?

[3 marks]

3sxl MO

e 21 AQ

r
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“Their”

For example, June 2022, 8300/2F, Question 11a

11 Nihal has savings of £168

He uses ; of his savings to buy sports equipment.

1 (9

[3 marks]

11 (@ Assume that he will use % of the rest of the money to buy a shirt.
How much of his savings, in £, will he have left?
ce eg168+7 x5
% 168 or 120 * .
L implied by 48

M1 5
allow 0.71(d...) or 71(4...)% for 7

% x (168 - their 120)
or

!B or 16

3

or

[| - ;1mss their 120)

o
(l e :” x48
| 32(.00p)

oe
must subtract their 120 from 168
with 10 < their 120 < 150

allow 0.33(3...) or 33(3...)% for ;

| allow 0.66(6...) or 067 or B6(6..)%
or 67% for 1 - 1
3)

18 is MIM1

Al 8C2 80 SC1 40

Nihal has savings of £168

He uses ; of his savings 1o buy sports equipment.

Assuma that he will use % of the rest of the money to buy a shirt.

How much of his savings, in £, will ha have leh?
3 marks]

L6005

{I§.Fox 5 =41y il
B lgg-g =fx M O
£Qzy=f2g éwfiz._—ﬂlz s B
M1 L5 42 56

5¢ AO

Answor £
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“Their”

"

11 (a)

Nihal has savings of £168

He uses ; of his savings to buy sports equipment.

Assume that he will use % of the rest of the money to buy a shirt.

How much of his savings, in £, will he have left?

1R~z =

S8

[3 marks]

168 = 14 = 154

1843 — 51.3%

js¢-g1 4= 2. 7

2.7

Answer £

20
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Follow through (ft)

Sometimes mark schemes will state A1ft or B1ft, which means you follow through

incorrect work and award this mark.

For example, Nov 2018, 8300/3F, Question 14a

14 (a) The term-to-term rule of a sequence is

Add 8 and divide by 2

The first term of the sequence is -24

Work out the next two terms. Renario]
-8 B1
0 ft their -8
21 Copyright © 2022 AQA and its licensors. Al rights reserved. AQAE
Follow through (ft)

14 (a) The term-to-term rule of a sequence is
Add 8 and divide by 2
The first term of the sequence is -24
Work out the next two terms.
[2 marks]

el

)

(24 +3) —2
N 7

BO

Answer “'/ é and
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Follow through (ft)

For example, Nov 2019, 8300/3F, Question 30

Work out
cube root of 512 : reciprocal of 0.4

Give your answer in the form »: 1

[3 marks]

8 B1

1 10 8= 0.4 or 3.2implies BIM1

— or — or 25

04 4 16 : 5 or equivalent ratio implies B1M1
or —— or 5 or 21 -

2 2 2
5
32:1 (rtBom1 )
or 1 1or 31 o |
5 5
o
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Follow through (ft)
30 Work out
cube root of 512 : reciprocal of 0.4
Give your answer in the form n: 1
[3 marks]
x
siz-¢c BO
1

—_— ~ - =

oy =25 M1

Answer Z- (4 : ’. Aft 1
30 Work out 3
cube root of 512 : reciprocal of 0.4
Give your answer in the form »: 1
[3 marks]

. g-“"ﬁf:

"6ty on..: [ & oy MO

Answer QO : / A 0

r
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Follow through (ft)

For example, Jun 2017, 8300/2F, Question 26a

26 (a) Complete the table of valuesfor vy =x'-x-2 [2 marks]
x -2 -1 0 1 2 3
¥ -2 -2 4
26(b) Drawthegraphof  y=x'-x-2 forvaluesofxfrom-2to3 [2 marks]
y - .
| B1 1 or 2 values correct
2|-1]0|1]2]|s
4 26(a) ‘ B2
EE o | 4 J
s 1
2
5 or B points plotted correctly Correct of[ft their table in (a;
1 My | Tolerance of £1 small square
Points can be implied by graph passing
R = 2 1 2 3 X through them
-1
Correct smooth parabolic curve Tolerance of +1 small square for the six
—2 correct points from the table
and A1
=3 t Vv-coordinate of minimum point in the No further tolerance for the minimum
range-25sys-21
o
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26 (a) Complete the table of values for y= P-x-2 [2 marks]
x -2 -1 0 1 2 3
¥ O 2 2 =) % 4 D
26 (b)  Draw the graph of p=rt-x-2 for values of x from -2 to 3 [2 marks]
VA
. M1
3
: AO
1
0 1 X
1
-3

r
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Follow through (ft)

If the method is shown, you can always follow through for the next step, but not

for the final answer.

6 A shop has this offer.

At the shop, dresses cost £42 each.
Amira buys 3 dresses.
Bobbi buys 5 dresses.

£5 reduction if you spend more than £100
or

£10 reduction if you spend more than £150
or

£20 reduction if you spend more than £200

How much more than Amira does Bobbi pay? [3 marks]
3x420r 126 implied by 121 or 190 or 84
or M1
5 %42 or 210
3%x42-5 or 121 oe
or M1dep
5x42-20 or 190
69 or 69.00(p) A1l 69p is AO
o
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Follow through (ft)

Ashop has this offer.

£5 reduction i you spend more than £100
or

£10 reduction if you spend more than £150
or

£20 reduction if you spend more than £200

Atthe shop, dresses cost £42 each.
Amira buys 3 dresses.
Bobbi buys 5 dresses.

How much me M1 ra does Babbi pay?

13 marks]
3x42 = /(R
168 =5 = 163
—Mdep 1
Answer £

A shop has this offer

£5 reduction if you spend more than £100
or

£10 reduction if you spend more than £150
or

£20 reduction if you spend more than £200

At the shop, dresses cost £42 each.
Amira buys 3 dresses.
Bobbi buys 5 dresses.

How much more than Amira does Bobbi pay?

3x42 = /R M1

[3 marks]

2 MO

Answer £
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Special case marks (SC1, SC2 etc)

Only award if it says so in the scheme. You either award this/these mark(s) or
method marks, not both.

For example, June 2022, 8300/2F, Question 11a

o8 eg168+7x5

5 168 or 120
7 implied by 48

M1

5
1 714, 7104, s
1" Nihal has savings of £168 Al )08 A 6 o 7
He uses ; of his savings to buy sports equipment i (168 — their 120) o8
; 3 must subtract their 120 from 168
11 (@) Assume that he wil use = of the rest of the money to buy a shirt. or with 10 < their 120 < 150
1 " 1
How much of his savings, in €, will he have left? Bmarks) | 3 48018 alow 033, of 3.6 for 5
o @ allow 0.66(6...) or 0.67 or B6(6...)%

1 or 87% for [1 - 1)
11 - 5],;153. their 120) \ 3)

16 is M1IM1

r
29 Copyright © 2022 AQA and its licensors. Al rights reserved. /'\(;A‘J

Special case marks (SC1, SC2 etc)

1 Ninal has savings of £168

He uses g of his savings to buy sports equipment.

11 (a)  Assume that he will use 3‘. of the rest of the maney to buy a shirt

How much of his savings, in £, will he have left?

[3 marks]
e .
5 -2t M1 120 =3 - &p
Wxs = 120
" Nihal has savings of £168

He uses ; of his savings to buy sperts equipment

—| 1 mark overall ]
weee 20 SC1

11 (@) Assume that he will use % of the rest of the money to buy a shint.

How much of his savings, in £, will he have left?

/£8 =45 igfg‘éq .

[3 marks]

2.3

e 0 OC 2

r
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Misreads

8

Award all method marks as usual (unless the scheme states to not allow misreads).
They will only lose the accuracy mark(s) (A or B marks).

For example, Nov 2017, 8300/2F, Question 8

A dry cleaning shop has the following offers.

Suit Dress.

Normal price £12.50
1stsuilt  normal price
2nd suit  half price

Normal price £9.75

Work out the total price for 2 suits and 8 dresses.

Three for the price of two

[4 marks]

12.5(0) +12.5(0)+2 o8
or Cost of 2 suits
12.5(0) +6.25 M1
or
12.5(0) x 1.5 or 18.75
975x4 oe
or eg 9.75%6-9.75x2 or 58.5(0)- 19.5
M1
875 § <6 or 65(0) %6 Cost of 6 dresses
or 39(.00)
dep on at least M1 awarded
their 18.75 + their 39(.00) Midiep | Must Deadding Sk suiiie} and thelr
dress(es)
May be implied by final answer
52.75 Al Accept £57.75p

31
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Misreads

A diry cieaning shop has the foliowing offers.

Suit Dress

Normal price £12 60
15t5utnomal price
Zndsuit - half price

Work out the total price &
[4 marks)

12-50 + 6-25 = (%S
. ST+ 45T - (9.1t
1.5% mCNCTY

Normal price £9.76
Thies for the price of two

Iresses

23S+ 22.2%

—Mdep 1

5303

s SE.05 A 0

A dry cleaning shop has the following offers.

Suit

Normal price €12 50
It sul  nommal price
2nd st half price

Normal price £9.75
Three for the price of two

Work out the total pnce for 0 dresses.
M1 14 marks]

. 12-50+6-25 = (%.¥S
T 1ASxy = 3700 M1

i {2-3S
43100 Mdep 1

— 5775 A1

Answer £ Sq’. s'}

32
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Misreads

80 26 42 men and 38 women visit a restourant
44.and 36 # their 80 — 44 44 of these people have a voucher
27and @ Riheir38+4x3 Three times as many men as women do not have a voucher

and ft their 36 + 4

26 (a) Complete the frequency tree.

15 and 20 1 42 — their 27 [4 marks)

and ft 38 — their 9 lf('f =

-
Total on ft must be 44 38 . Lf — ( '
Additional Guidance m
Voucher Gender 4 2 (WOMmEA
Voucher BﬂntﬁrB 0

B181B1B1

B 1%

| Mark diagram onk(Go not afiow ml;r@

33
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Marks implied

“70.5 implies M2” means if you seen 70.5 then award 2 marks immediately.

For example, June 2019, 8300/2F, Question 5

5 Which is longer, % ofaday or

You must show your working.

1000 minutes?

[3 marks]
24+4x3 or 18 M1 oe
their 18 x 60 or 1080 oe
M1dep S—
1080 implies M2
3
1080 and 7 (of a day) A1

34
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Marks implied

‘Which is longer, ;duduy or 1000 minutes?

You must show your working.
[3 marks]

B2 =18 M1
%

18 owd = (&X62 o
= wgc Mdep 1 __

5 Which is longer, %dudﬂy or 1000 minutes?

You must show your working.

togc M 1
o og0 s AO  ————Mdep 1

[3 marks]

o Zafads Al
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Marks implied

5 Which is longer, % ofaday or 1000 minutes?

You must show your working.
[3 marks]

M1
Answer /080 Mdep 1

r
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Brackets in the mark scheme

(c =) — 9 means they don’t actually need to say “c = -9”, -9 alone would score

the mark.

For example, Nov 2020, 8300/2F, Question 24

24 Work out the highest common factor (HCF) of 75 and 105 [2 marks]
15 B1 answer 3
or answer 5

or answer 3 (x)5

B2 or (75=)3(x)5(x)5 or (75=)3 (x) 52
or (105=)3(x)5(x)7

or (1) 3 5 15 25 (75)

or (1) 357 15 21 35 (105)

37 Copyright © 2022 AQA and its licensors. Al rights reserved. AQAE
Brackets in the mark scheme
24 Work out the highest common factor (HCF) of 75 and 105 [2 marks]
7s J]os
/ \ /N
S 21 S
/ \ /1 \‘
S L. B1 T 3
Y b
Answer
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Brackets in the mark scheme

13 Here is a formula for the amount of water needed to cook rice.
w=15r+ 05
w is the number of cups of water needed
ris the number of cups of rice to be cooked

13 (b) How many cups of rice can be cooked with 20 cups of water? [3 marks]
20-0.5 or 195 oe
or
M1
_w-05
"5
13(b)
oe
their 19.5+1.5 M1dep< BB
-U. +* o s
(@0-09)
13 Al
o
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Brackets in the mark scheme

13 (b) How many cups of rice can be cocked with 20 cups of water?
[3 marks

w-os=.c MO
MO

{ q C A 0 13 (b) How many cups of rice can be cooked with 20 cups of water?
Answer ’

[3 marks]
A0 — 6.5 ~1.5 M 1

Mdep 1

Answer [ A 1

r
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Values in squared brackets

[4.4, 4.6] means accept 4.4, 4.5 and 4.6 (or anything in-between).

[2, 2.75] means accept between 2, up to but not including 2.75

23 Sam types a constant number of words per minute
He takes 8 minutes to type a report of 416 words.
How long does it take him to type an essay of 1534 words?
Give your answer in minutes and seconds.

[3 marks]
Alternative method 3 ) Essay words + report words.
1534 + 416 or 22 o
16
or([3.68, 3.69 or 3.7
[358. 3.6 i
or
(1534 - 418) + 418
Answer minutes seconds
or [2.68, 269] or 2.7
8 x(fheir [3.68, 3.69] oe eg 8 x 60 x their [3.68, 3.69]
or or
8 x their [2.68, 2.69] + 8 8 x 60 x their [2.68, 2.69] + 8 x 60
or 29.5 or 1770
29 minutes 30 seconds W SC2 29 minutes 50 seconds
or 29 minutes 5 seconds
o
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23 Sam types a constant number of words per minute.
He takes & minutes to type a report of 416 words.
How long does it take him to type an essay of 1534 words?
Give your answer in minutes and seconds.
[3 marks]
1534, =4 = &
%X & =32
Mdep 1
23 Sam types a constant number of words per minute.

Answer B2 oD sevonds

AO

He takes 8 minutes to type a report of 418 words.

How long does it take him to type an essay of 1534 words?

Give your answer in mmubMd e p 1
3.72x% Tz29.¢
M1

[3 marks]

N

Answer

: AO
minutes seconds
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Values in squared brackets

23 Sam types a constant number of words per minute.
He takes B minules to type a report of 416 words.

How long does it take him to type an essay of 1534 words?

Give your answer in minute: g () ands

[3 marks]
4 X8 - 32
23 Sam types a constant number of words per minute
g He takes 8 minutes to type a report of 416 words.
A 0 How long does it take him to type an essay of 1534 words?
Answer 3z minutes CD seconds Give your answer in ~i~ag and seconds.
[3 marks)
24%3< x ¥ Mdep 1
Answer minutes seconds
o
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Simplification or conversion of a correct answer
- 33 . .
In probability, once a correct answer has been seen eg T3¢ 'gnore incorrect
simplification.
3 M 0975 or 275% B1 oe fraction, decimal or percentage
120 40
Additional Guidance
Correct answer seen with an answer of 33 BO
25(a) :]gnore simplification or conversioDcorred answer seen
33 3
1 —— seen Answer —

9% 20 10 B1

eg2 0.275 seen Answer 0.28 B1

eg3 % seen Answer 27.5 B1
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Simplification or conversion of a correct answer

25 Rosia makes phone calls 1o ry to sell broadband,
Today, she made 120 calis.

The table shows the results.

s2]

B1

Result of call Frequency
Not answered 3 33 vico
. vl
Answared but sale ot made 81
Answered and salo made 6
25 (a)  Write down he relative frequency that a call was not answered.
11 mark]
S 25 Rosie makes phone calls 1o try to sell broadband
Answor 21
it Today, she made 120 calls.
The table shows the results.
Result of call Frequency

Not answered 33

Answered but sale not made 81

Answered and sale made 6

—
1zo
25 (a)  Write down the relative frequency that a call was not answered. S 5 B 1
e Tequenay 2=
Tz0 11 mark)
1.1
e -
o
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Choice

Mark the one that corresponds to the answer on their answer line.

o =S

Wierk out 19 vare of 3 38 & Secmal.
[3marks]

2 2

JSSs = 3.4y Mdep 1

8+ 3%= 23
73

=

SO

3o A1

8% and 37 seen M2 for
gx8and3x3 (
Nkt M1 Sm"t 3 ]= 22(...) and 8 cos (their 22.(...))
or 64 and 9 seen 8
or55 or
Jai-a? cm"[%}= 67.(...) or 68 and
or JEI-9 Midep | 8 sin (their 67.(...)
ory/55
[7.4.7.42) A1
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Choice

22
Not drawn
accurately
8em
3em
xem
Work out the value of x as a decimal.
[3 marks]
2 2.
R = Z = é C'I- kcned Q)
= S C
J? S = Py,
L 2z
M1R + %= 52
&3 = LS.
Answer A 0
o
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Choice

For example, Nov 2020, 8300/2F, Question 12

Mateh ach expression on the left with one on the right =

Oné has boen dona o you

14 marks]

Match each expression on th left with one on the night
One has been done fof you,

14 marks]

48 Copyright © 2022 AQA and its licensors. Al rights reserved.




Allow M1 even if not subsequently used

Ignore the rules of choice. If you see it, anywhere, they can score those
mark(s).

“Up to M4 may be awarded for correct work with no, or incorrect answer,
even if this is seen amongst multiple attempts”.

AQAE
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Allow method mark even if not subsequently used

22

Not dravwn
accurately

Work out the value of x as a decimal.

R-3% = 44-2
S

[3 marks]

=S¢
R—-R = g
Answer SQ\—\.

AQAE
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Correct final answers

Always score full marks, unless it is clear it has come from incorrect working or

unless it is a “show that” question.

6 (b) Workout L %
Give your answer as a mixed number.
[3 marks]
oe
35 (+) 18 M1 fractions with a correct common
42 42 denominator and at least one correct
numerator
6b % A1l oe improper fraction
oe mixed number
1 1 ; 2
2 B1ft | ft for correct conversion of an improper
fraction to a mixed number
o
51 Copyright © 2022 AQA and its licensors. Al rights reserved. AQA
Correct final answers
7
6(b) Workout g*% =—_§_-‘S___ M 0
(a
Give your answer as&mexed number. Lf 2—
[3 marks]
T - 1
St MO
Lie ay 5%
w323 . B =2 M1
ey 7] T2
Give your answer as a mixed number’ A

Bft 1

i
Answer [-‘f‘:’

w4 Bft 1l

52 Copyright © 2022 AQA and its licensors. All rights reserved.
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Work crossed out

If they have crossed through their entire answer, mark it.

2 Billy wants to buy these tickets for a show
4 agult tickets at £15 each
2 child tickets at £10 each

ying by credit card

Answer £

r
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Work crossed and replaced

Work crossed out must be ignored and not marked. Only mark the bits not
crossed out.

21 Billy wants to buy these tickets for a show.
4 adult tickets at £15 each
2 child tickets at £10 each

A 10% booking fee is added 1o the ticket price.
3% is then added for paying by credit card.

Work out the total charge for these tickets when paying by credit card.
(5 marks]

% JDf;DFJ{;Q. <

MO

Answer £

r
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Poor handwriting/spelling

Apply common sense — we are on the candidates’ side. Mark their intention
For example, June 2017, 8300/2F, Question 21a.

2 Eva thinks she can save water 2 shower Instead of 8 bath.

YR ~ feg M 1

3Bam
I T 1000 em’ = 1 inre Soem
108 x8or864 J M1 T

| 50 = 110 = 35 or 192500 ‘ M1 | Mustuse correct volume formuls 21 Jeng Eras ssaumpton ok ot how many i M 1-"“ by M-W::MI

2@ | their 192 500 + 1000 or 192.5 V‘Mmep dep on 2nd M1 IWMVF?;J’Q \wa - Mdep 1
| their 192.5 - their 86.4 M1dep | dep on MIMIM1 ) _Nbg - \\%_5
j 106.1 or 106 A1 1'_L’in\tiMdep 1

s \0¢.t~ A1l
o
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Graph questions

Half a square leniency allowed in the vertical, horizontal or diagonal direction.
Measure from the outside widths of their line.

15 Thegraphof y=d4-r forvaluesofxfrom=-2to5  is shown on the grid

15 (a) Onthegrd drawthegraphof  y=2v-5 forvalues of xfrom-2to 5

3

x| -2

J

=llo | 10
=|-?-s| | | 3]s 8

i L

13 marks]

2 =10 1 g 3 as
-2 |
x
-4
®
~B-
x
-8
x
=10
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Graph questions

=

d | 2 ] !
1 I

=2 ! !
4 i X :
T L gy manang |
T K| 1 |
-6 -6 | |
Rz e [ [
-8 :8
x [ X
-10 ! I 1n
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Graph questions

MO+ T !
! S | +
100 f
e eSS W 4
Year 2016 :
80+ Time (minutes) | 113 |
Y .0 32 i o 13 i g o
{ Plots at least 3 points comectly i 1 i EENUAERESEEE Pt
701 ? oo i SRR
i [modisomnaibuind | | o e S5 i O
60ttt ]f WRERER 1 ‘ !
P | - e : + T
1 1] 1 08 3 9210 B O CTETITED 5 24
1 +-1-1 o ) i 11 i 0 0 0 >

2012 2013 2014 2015 2016 2017 2018 2019 Ze)o

r
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No ruler

Apply common sense — we are on the candidates’ side. Mark their intention.

18 A shop sells raincoats and umbrelias.
The scafter graph shows the monthly sales for 12 months.

13 marks]

Correct straight line which passes line must extend from 1010 70 Sales of raincoats and umbrelias
between (10, 35) and (10, 55) and B1
between (70, 135) and (70, 155)
Draws a vertical line from umbrelia their line / curve must be increasing
sales of £60 to meet their fine may be implied by correct value for their
or marks a peint on their line of best M1 | jine J curve
fit corresponding to umbrelia sales of Sales of
18(b) | cgo fainconts (£)

Correct value for their line 1t their increasing line / curve

allow any reading within one vertical

Alfy | Square
g if their vertical line crosses their line of
best fitin the first square above 125, aliow 0
0 10 20 30 40 50 60 70 80
[125. 130)
Sales of umbrellas (£)
18 (b)  The manager expects the sales of umbrelias next month to be £60
Draw a line of best fit 1o estimate the sales of raincoats next month
o ¢ - I -
r
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Questions involving metric units

If a question has “m” printed on the answer line to suggest their answer should
be in metres. They are allowed to cross this out.

B Ty s owa e S a et 42x100+7 or 60 oe eg420+7 or 7+420
i e of implied by 1 — 60 or 0.5 — 30
7 +(4.2 x 100)
or 0.0166... or 0.0167
z M1
Teom o
25+7 or 0.357... or 0.36
| & o
250m
T2 ;i
| l 1 15 25 or 28
4200 25x420:7 or 150 oe eg 2.5+ (7 + 420) or 2.5 + 0.0167
Th sl height o e e 5 4. 2 e or 420 = (7 + 2.5) or 420 :28
Work out the actual height of he student o M1dep | or full build-up
Fomz ¢4 200 €g60+60+30 or 305
Iem=co or 420+ 2-60
Mdep 1
bot Lo+ 3o 15 ap | c® tracton or decmal
SC2 answer with digits 15
150 is M2AD but Answer 150cm with m crossed out would be M2A1
one 50 s Al
r
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Seen

If you see it, anywhere, then award the mark.
For example, June 2018, 8300/3F, Question 28

28 The cost of a ticket increases by 10% to £19.25
Work out the original cost.
[3 marks]
1.1 seen oe eg
or 110% = 19.25 seen M1 10% =1.75
or19.25+ 110 1% =0.175
1925+ 1.1 oe
or0.175 x 100 M1dep
28 or17.5
17.50 Al correct maney notation
Additional Guidance
Condone £17.50p MIM1A1
Answer £17.5 M1IM1AO
r
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28 The cost of a ticket increases by 10% to £19.25
Work out the original cost.
[3 marks)
/9.25 X () = 20135
Answer £ Ll - {g’ 28 The cost of a ticket increases by 10% to £19.25
Work out the original cost
[3 marks]
Answer £ / o ] M 1
AQAZ
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Break

63
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June 2022, 8300/2F, Question 15

15 The scale drawing shows a tree and a student.

-~
25cm
The actual height of the tree is 4.2 metres.
Work out the actual height of the student.
[3 marks]
Answer m
r
65 Copyright © 2022 AQA and its licensors. All rights reserved. AQA“
Q Answer ‘ Mark ‘ Comments

Alternative method 1 Using the given values

42:7 or 06
or
7+42 or 166... or 1.67

implied by 1— 0.6 or 0.5 —03

or M1
25+7 or 0.357... or 0.36
or
7+25 or 28
25x42+7 08 g 25+ (7 +4.2) or 2.5+ 1.67
or 42+(7+25) or 42+28
Midep | or full build-up
€g0.6+06+0.3 or 03x5
or42:2-06
15 08 fraction or decimal
A1

SC2 answer with digits 15

Alternative method 2 Working consistently in

centimetres

4.2x100+7 or 60
or

e €g420+7 or 7+ 420
implied by 1— 60 or 0.5— 30

7+ (4.2 x 100)
or 0.0166... or 0.0167
M1
or
25+7 or 0.357... or 0.36
or
7+25 or 28
25x420+7 or 150 00 ©g 2.5+ (7 +420) or 2.5 +0.0167
or 420 + (7 + 2.5) or 420 + 2.8
Mtdep | or full build-up
©g60+60+30 or 30x5
or 420 +2-60
15 oe fraction or decimal
Al

SC2 answer with digits 15

o
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Additional Guidance

Additional Guidance

Up to M1 may be awarded for correct work with no, or incorrect answer,
even if this is seen amongst multiple attempts
Answer 1.5 with no working M2A1
150 is M2A0 but Answer 150 cm with m crossed out would be M2A1
4.2:15 or 420: 150 M2
For consistent working in millimetres or metres apply the principles of Alt 2
Incorrect or inconsistent change of units must be recovered for M2A0 or
M2A1, otherwise score 0 or SC2

cl?“ egl 42 +7=6,6 x 2.5 =15, Answer 1.5 (units recovered) M2A1
eg2 4200 + 7 =800, 800 x 2.5 =2000, Answer 2 (arithmetic slip but M2A0
method shown and units recovered)
egd 42 +7=6,6 x 2.5 =15, Answer 15 (units never recovered) sc2
NB Correct values from incorrect methods
egl 7 —4.2=2.8 with no other creditworthy work MOMOAQ
eg2 2.5 +4.2=0.6 (1 dp) with no other creditworthy work MOMOAQ
If rounded or truncated values are used, the final answer must be exactly
15
egl 2.5 +1.66 Answer 1.5 (may have kept full value on calculator) M2A1
eg2 2.5 +1.66 =1.508 Answer 1.5 (comes from further rounding) M2A0

r
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Do st wiis
| ouesida o

|15

The scale drawing shows a tree and a student.

25¢cm

|

The actual height of the tree is 4.2 metres.

Work out the actual height of the student.

Z=04.2 4 L2:7=056
- 3.5=2.] 1-C.6

13 marks]

2.1-0.6= 1.5 -

Answer , S "o m

68
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S2

15 The scale drawing shows a tree and a student.

The actual height of the tree is 4.2 metres.

Work out the actual height of the student.

[3 marks]

r—2.5 ¢ )

= Lo>
Answer l- o ? m
o
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0a not it
outsido the
15 The scale drawing shows a tree and a student. o
|
5
s
Al
| L
7em
25¢em
The actual height of the tree is 4.2 metres.
Work out the actual height of the student.
<
t\ 7 [3 marks]
N
- —
Answer 5 m

70
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S4

15 The scale drawing shows a tree and a student.

25cm

The actual height of the tree is 4.2 metres.

Work out the actual height of the student.

Frul=le

[3 marks]

x«2.59:=4 ' -

Answer Um

Do noturte
ourside the
box

7
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S5

The actual height of the tree is 4.2 metres.

‘Work out the actual height of the student.

Do not wrie
box

3 marks]

heaC o 2. 5= 18 . =

‘ hell# Pown — e 2
|

Answer | S m

72
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S6

15

The scale drawing shows a tree and a student.

~
25cm
The actual height of the tree is 4.2 metres.
Work out the actual height of the student.
[3 marks]
20 — —~ (o
(e Z
€or2.§
Answer _ ( S e »l M
o
73 Copyright © 2022 AQA and its licensors. All rights reserved. /'\Q/'\'J
00 notwrte
outsa tho
15 The scale drawing shows a tree and a student. Dt
8
25em
e =7
The actual height of the tree is 4.2 metres. agrens
Work out the actual height of the student. |
| . [3 marks] |
Ly 2o Tiier : 6
“mz [Cm Tu2-=].
E’L@@( q:2-35 = 2. )meter
L2 20221

74
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S8

15

| Bonoturte
utsids the
Bor

The scale drawing shows a tree and a student.

25cm

The actual height of the tree is 4.2 metres.

Work out the actual height of the student.
[3 marks]

TJem - .2cm=2 .%o
Tees v J_mwm%nx__
Vs STl b

2-S32.8 5%, N

Answer S.2cm m

75
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S9

00 ot wats
‘autside the
box

15 The scale drawing shows a tree and a student.

25cm

The actual height of the tree is 4.2 metres.

Work ouol lae actual height of the student.

2\b20
Cotbo+20 = 1 f5

[3 marks]

Answer l §0 m

76
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June 2022, 8300/1F, Question 16

16

Here is the graph of y=7—3x

¥y

o]

Draw the graph of y=2x+1

and then

work out an approximate salution to

on the grid

T-3x=2x+1

[3 marks]

77
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Mark scheme & additional guidance

Q Answer Mark Comments
At least two points from may be seen in a table of values or
(©0,1) (1,3) (2.5) and (3,7) embedded in calculations
M1 may be implied by correct line
1
=+ % square tolerance
Correct straight line between 1
=
(1.3) and (2,5) Al 5 square tolerance
[1.15, 1.25] from using the graph oe
or ft x-coordinate of any line drawn that
12 B1it intersects the given fine
16

d:% square tolerance

Additional Guidance

Ignore further work after B1 scored

1.2 with MO scored MOADB1
1.2 with two correct points seen but no or incorrect line M1AOB1
For the A1, ignare incorrect lines unless used to read off for intersection

and then only allow for the B1ft

Answer given as coordinates eg (1.2, 3.4) BO

78
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S1

16 Here is the graph of  y=7—3x

Draw the graphof y=2¢+1 o the grid

and then
work out an approximate solution to 7 — 3x=2x + 1
[3 marks]
Answer x‘ -\ ’L
79 Copyright © 2022 AQA and its licensors. All rights reserved. AQA“
16 Here is the graph of =7 —3x
v
- : e
5
b
3
HHy
0 \\ 3 (s
Draw the graph of  y=2v+1 onthe grid
and then
work out an approximate solution to | 7 —3x=2x¢+1
o, [3 marks]
gLals LR
4=2x2W =3 i .
u 6=9x
\3; TxRr =t | 5

Answer |1

80 Copyright © 2022 AQA and its licensors. Al rights reserved.
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S3

16 Here is the graph of  y=7 - 3x

Draw the graph of x+1 onthe grid
and then
work out an approximate solutionto 7 — 3x=2v + 1
[3 marks]
‘
‘
-~ =
Answer ? T’f{ 7 (
» AQAZ
81 Copyright © 2022 AQA and its licensors. All rights reserved.
‘ 16 Hereis the graphof y=7-3x
|
| ¥
\ = o
1 1
7
5 |
0 i 3 #
Drawthe graphof y=2¢+1 onthe grid
and then
| work out an approximate solutionto 7 — 241
Ix I,s, 13 marks]
‘ T
‘ -]
i Fi
5|1
& L
= *
Answer

82
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S5

16 Here is the graph of y=7—3x

v:)—,;w”

Drawthe graphof y=2v+1 onthe grid
and then

work out an approximate solutionto 7 —3x=2x+1
[3 marks]

Oyaay b qﬂ;w?\"”

5
&, \, X2 -2 Sxtl

I 6 =5
[38 =¥

Anower L5

83

r
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S6

16 Hereis the graph of =7 3x

Draw the graphof y=2¢+1 o the grid
and then

work out an approximate solution to 7 —3x=2x+ 1
[3 marks]

Answer QA adaN

84
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S7

16 Hereis the graph of  y=7 - 3x

b

Drawthe graph of y=2v+1 on the grid

and then

work out an approximate solution to 7 - 3x = 2¢+ 1
—_— 3 marks]

%{—%ﬁ—% 2\Ao+\:$
X< 2% |+ 1=3

r
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June 2022 8300/1F Question 24 & 8300/1H Question 10

24 Use a ruler and compasses in this question.

ABCD represents a garden.

A

A tree is to be planted in the garden.
The tree will be in the region that is closer to AB than to BC.

Label the region, R, where the tree could be planted.

Show all your construction lines.
[3 marks]

AQAE
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Mark scheme and additional guidance

Q Answer Mark Comments
Alternative method 1
Pair of arcs, equal radii (= 2mm), oe egsingle arc, centre B,
centre B, intersecting AB and BC intersecting AB and BC
M| or
single arc, centre B, radius BC (+ 2mm)
intersecting A8
Pair of intersecting arcs, equal radii
(+ 2mm), centres the intersections
on AB and BC
and A
angle bisector drawn from B at dashed line or condone solid line
least to the intersection of their arcs
Correct region R shown as the area R may be labelled or shaded
between AB and a straightine flom | | arcs not required for this mark only
SC1 angle bisector for a different angle
correctly constructed with arcs
Alternative method 2
2, Concentric arcs from B, each M1 | intersections with AB and BC must be
intersecting AB and BC seen, but full arcs are not necessary
Tuwo lines from the AB intersection
of one arc to the BC intersection of
the other arc
and Al
sngleiblsector dratmiftom Bt dashed line or condone solid ine
least to the intersection of their
lines
Correct region R shown as the area R may be labelled or shaded
Detveen AB ard a staightine flom | | arcs not required for this mark only

SC1 angle bisector for a different angle
correctly constructed with arcs

Additional Guidance

Mark any correct construction, ignoring incorrect attempts

region labelled

Unless shaded incorrectly, ignore construction ares or other lines in the

Bisector drawn with no construction arcs, but region correctly identified MOAOB1

87
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S1

Use a ruler and compasses in this question.

ABCD represents a garden.

Atree is to be planted in the garden.

The tree will be in the region that is closer to AB than to BC.

Label the region, R, where the tree could be planted.

Show all your construction lines.

88
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S2

24 Use a ruler and compasses in this question.

ABCD represents a garden.

Atree is to be planted in the garden.

The tree wil be in the region that is closer m@han m@
Label the region, R, where the tree could be planted.

Show all your construction lines.

hise(ior ofen fO Gom

[3 marks]

89
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S3

24 Use a ruler and compasses in this question.

ABCD represents a garden.

A tree is o be planted in the garden.
The tree will be in the region that is closer to AB than to BC.
Label the region, R, where the tree could be planted.

Show all your construction lines.
[3 marks]

90
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S4

‘ 24 Use a ruler and compasses in this question.

ABCD represents a garden.

A tree is to be planted in the garden.

The tree will be in the region that is closer to AB than te BC.
Label the region, R, where the tree could be planted.

Show all your construction lines.

[3 marks]

91
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S5

24 Use a ruler and compasses in this question.

‘ ABCD represents a garden,

A tree is to be planted in the garden.
The tree will be in the region that is closer to AB than to BC.

Label the region, R, where the tree could be planted.

Show all your construction lines.
[3 marks]

92
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S6

24 Use a ruler and compasses in this question.

ABCD represents a garden. |

Atree is to be planted in the garden.
The tree will be in the region that is closer to AB than to BC:

Label the region, R, where the tree could be planted.
Show all your construction lines,

[3 marks]

93
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June 2022 8300/2F Question 25a & 8300/2H Question 9a

25

25 (a)

Rosie makes phone calls to try to sell broadband.
Today, she made 120 calls.
The table shows the results.

Result of call Frequency
Not answered 33
Answered but sale not made 81
Answered and sale made ]

Write down the relative frequency that a call was not answered.
[1 mark]

94
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Mark scheme & additional guidance

Q Answer Mark Comments
33 o 11 or 0.275 or 27.5% 81 oe fraction, decimal or percentage
120 40
Additional Guidance
Correct answer seen with an answer of 33 BO
Ignore simplification or conversion if correct answer seen
33 3
1 — Ar -
egl o5 seen Answer o B1
eg2 0.275 seen Answer 0.28 B1
1"
eg3 — seen Answer 27.5
% 20 Bt
Ignore words if correct answer seen
25(a) | egl % seen Answer 11 out of 40 B1
33
eg2 2 unlikel
g: 120 y B1
Answer given as ratio (even if correct answer also seen)
eg 33:120 BO
Answer only in words eg 33 out of 120 BO
Only 27.5 (without %) BO
Only 27% or 28% BO
Only 0.27 or 0.28 BO
44
Only —
nly 4 BO
r
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cutsits
‘ 25 Rosie makes phone calls to try to sell broadband. Lo
Today, she made 120 calls.
The table shows the resuits.
Resuit of call Frequency
Not answered 33
| =
| | Answered but sale not made 81
| | S
| Answered and sale made 6
|
25 (a) Write down the relative frequency that a call was not answered.
[1 mark]
S
\ze

Answer

96
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S2

outicthet
25 Rosie makes phone calls to try to sall broadband. |
Today. she made 120 calls.
The table shows the results.
Result of call Frequency
Not answered 33 iS__ X \ S0
V2O
| Answered but sale not made 81
Answered and sale made 6
L -2
25 (a) Write down the relative frequency that a call was not answered.
[1 mark]
| Answer z i S
r
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autside
25 Rosie makes phone calls to try to sell broadband, L
Today, she made 120 call |
The table shows the results. |
Result of call Frequency
Not answered 33
Answered but sale not made | 81

Lol w

; Answered and sale made 6 | roia

‘55/10 E 2%5

25 (a)  Write down the relative frequency that a call was not answered.
haiatlle

[1 mark] 1

= 0.2
Answer -2 % /°

98
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S4

autside the
25 Rosie makes phone calls to try to sell broadband. L
Today, she made 120 calls.
The table shows the results. !
— |
Result of call Frequency ‘
Not answered ‘ 33
| Answered but sale not made ) 81
Answered and sale made | 6
25 (a) Write down the relative frequency that a call was not answered
[1 mark]
L\
Answer 53/ 20 / (1]
r
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outsich
25 Rosie makes phone calls to try to sell broadband ]
Today, she made 120 calls.
The table shows the results.
Result of call Frequency
Not answered 33
Answered but sale not made 81
Answered and sale made 6
25 (a) Write down the relative frequency that a call was not answered.
[1 mark]

o PSS
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outsica
25 Rasie makes phone calls to try to sell broadband. bt
il LS
Today, she made 120 calls
The table shows the results.
Result of call Frequency
| Not answered 33
| Answered but sale not made 81
| Answered and sale made 6 |
|
| |
25 (a) Write down the relative frequency that a call was not answered.
[1 mark]
Answer 83 al iZ.O
[
r
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| outside th
| 25 Rosie makes phone calls to try to sell broadband. L
Today, she made 120 calls.
The table shows the results.
Result of call ‘ Frequency
| | Not answered T 33
\ B e—— —
| Answered but sale not made 81
| Answered and sale made 6 |
120
25 (a) Write down the relative frequency that a call was not answered. 3 3
= 120 [1 mark]
1.1
Answer Lk
1
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outside
25 Rosie makes phane calls to try to sell broadband. 2%
Today, she made 120 calls.
The table shows the results.
Result of call Frequency
Not answered 33
Answered but sale not made 81
Answered and sale made 5
25 (a) Write down the relative frequency that a call was not answered.
[1 mark]
qQ
Answer 97 }'% :
r
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June 2022 8300/2F Question 25b & 8300/2H Question 9b

25 Rosie makes phone calls to try to sell broadband.
Today, she made 120 calls.
The table shows the results.

Result of call Frequency
Not answered 33
Answered but sale not made 81
Answered and sale made 6

25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales does she expect to make during the
rest of the week?
[2 marks]

o
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Mark scheme & additional guidance

Q Answer Mark Comments

6 500 oe eg 0.05 x 500 or 500 + 20
120
or

[4.16,4.17] x 6 or [24.96, 25.02]

M1
or 42x6 or 262
or
25:500 or 2>
500
2 A1

Additional Guidance

Working and value may be seen by table

25(b) | 24+1, Answer 25

Answer 25 (comes from further rounding)

M1A1

480 =24, Answer 25 M1A1
Embedded but not selected as answer eg 137.5 + 337.5 + 25 = 500 M1A0
Working for Not answered or Answered but sale not made is not choice
eg ignore 137.5 and 337.5 seen
25 followed by answer 19 M1A0
If rounded or truncated values are used, the final answer must be exactly
25
egl 500 +120=4.16,4.16 x 6 M1

Answer 25 (may have kept full value on calculator) A1
eg2 500 + 120 =4.16,4.16 x 6 =24.96 %
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|
125 (b) During the rest of the week, Rosie will make 500 calls.

rest of the week?

_ 16 T6=20

Using the results in the table, how many sales does she expect to make during the

[2 marks]

00 =70 =15

Answer ,L 6
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25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales
rest of the week?

expect to make during the

[2 marks]

Answer

r
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S3

25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales does she expect to make during the
rest of the week?

) 504
120 x4.2 - Set:r
Grbt.7 25.2

2 marks]

|
|
Answer 2 6

o
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S4

25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales does she expect to make during the
rest of the week?

[2 marks]

oy 10= 0 Foaes
oxu = 24 roues

Answer

109
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25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales does she expect to make during the
rest of the week?
[2 marks]

Answer —2_ 5
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|25 (b) During the rest of the week, Rosie will make 500 calls.
Using the results in the table, how many sales does she expect to make during the
rest of the week?
[2 marks]
500 -120= 118

NOt ansuAsvar =3 F x L /@ 1x U /Exel.|

=T f337 e e |

Answer 244 MChve

111

r
Copyright © 2022 AQA and its licensors. All rights reserved. AQA =~

S7

25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales does she expect to make during the
rest of the week?
[2 marks]

500: o = Ll G20

112
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S8

25 (b) During the rest of the week, Rosie will make 500 calls.
Using the results in the table, how many sales does she expect to make during the

rest of the week?
| [2 marks]

120 cawd =6 sanes  LB0caus= 2secates
D30 caun Lept 20cans = 1 808
HO0.cald = 293016

_15-6=1a

Answer |0
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25 (b) During the rest of the week, Rosie will make 500 calls.

Using the results in the table, how many sales does she expect to make during the
rest of the week?

[2 marks]
76 7 6 =20 170X 4 = «4%0
bt g% G000
TR
Answer 25 sales

114
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25 (b) During the rest of the week, Rosie will make 500 calls.
Using the results in the table, how many sales does she expect to make during the
rest of the week?
( 5 [2 marks]
_ e Q0T
] Y = 4.06
L |6x Gzt

25

Answer ; o

AQAE
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June 2022 8300/1F Question 25 & 8300/1H Question 11

25 Here are two shapes, P and Q.
P Q
g of a circle, radius 20cm % of a circle, radius 15¢cm

Not drawn
accurately

How many times bigger is the area of P than the area of Q?

You must show your working.

[4 marks]

AQAE
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Mark scheme & additional guidance

Q Answer Mark Comments
207 (x 7T) or 400 (x 7T) oe
or M1
157 (x Tt) or 225 (x 7T)
oe

% x 20% (x 7T) or 300 (x )
or M1dep

% 157 (x 1) or 75 (x 7T)

% x 202 (x 7T) or 300 (x TT)
and Midep

% ¥ 182 (x ) or 75 (x )

Accept P = 4Q for 4

25 300 (x 71)
and sc2
75 (x M) A1 40 (x 7t) and 30 (x 7T)
and and 30 (x 71) and 10 (x 7T)
4 and answer 3
Additional Guidance
Answer 4 with no working MoAQ
Condone inconsistent use of T eg 3007T and 75 and 4 M3A1
Condone, for example, 7400 for 4007T
Allow use of a numerical value for Tt for method marks and for the A mark
with answer
Ignore units throughout
r
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25 Here are two shapes, P and Q.
P Q |
3 ot a circe, radius 20 em 1 of acircle, radius 15cm
Not drawn
accurately

Z57
Ban 7 #&
&

How many times bigger is the area of P than the area of Q7
You must show your working.
[4 marks]

= X0 pn Qa0 80 89 g9 zos
grgs %= 5TC .

= M3 1S the

CONBO 2

Answer =

AQAE
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S2

25

Here are two shapes, P and Q.
4 Q
% of a circle, radius 15¢cm

i of a circle, radius 20cm
Not drawn

accurately

How many times bigger is the area of P than the area of Q?
[4 marks]

“You must show your working.

Hrgn™ = sk{ﬁ@‘o;fi

A xis?e g254
22O
U 76

-

15

<52 iz

o
|

on SRy

Answer

AQAE
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25 Here are two shapes, P and Q.

P Q
; of a circle, radius 15cm

2 of a circle, radius 20cm
Not drawn

accurately

How many times bigger is the area of P than the area of Q?
‘You must show your working.
[4 marks]
M x20% = toof <4 %3 = Zoor
MXGo = 407 ~4 <3 = J01
= 9 S 7

M (SE= 2057 = 3
TTx3c = Z07m =% Z (07
2 U

Soor — 357
Jo7 = 107 =3

z

Answer

AQAE
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S4

|25 Here are two shapes, P and Q.
3 a
3 of a circle, radius 20cm ; of acircle, radius 15cm
Not drawn
accurately
|
|
|
|
|
|
|
| How many times bigger is the area of P than the area of Q7
| You must show your working.
| [4 marks]
ES Sy
Ce = \ J On LN
\S-S<ly
)
Qeto)s= Som
.3
— ;
| - ﬁgLZé;‘LS Totli=§
|
Answer § = ngL’gsez
r
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|25 Here are two shapes, P and Q.
{
P Q
2 of a circle, radius 20cm 1 ofacircle, racius 15m
Not drawn
accurately
How many times bigger is the area of P than the area of Q7
You must show your working
[4 marks]
TS O~ —
8 20" Los™T
(- = (ocox® =Fes
e e R —
FEPRT R S (WG T R - o it
y
3 —F a9 B S

X RS
e o ~\3S ~3QCIT eay
73 e = s RLES 3 J ek

Answer 23 S
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|25 Here are two shapes, P and Q.
3 a
% of a circle, radius 20cm 3 of acircl, radius 15cm

Not drawn

How many times bigger is the area of P than the area of Q?
You must show your working.

[4 marks]
aut of 0"
nSZ of L0 =
10 40 B
T fe g
47
. |
Answer 215
-
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June 2022 8300/2F Question 27 & 8300/2H Question 11

27 A shape is made by joining a right-angled triangle to a rectangle.
Not drawn
30em 16cm accurately
52cm
Work out the area of the shape.
[5 marks]

o
124 Copyright © 2022 AQA and its licensors. Al rights reserved. AQA




Mark scheme & additional guidance

Q Answer Mark Comments
167 or 256 oe
and M1 implied by 1156
30% or 900
167 +307 or /256+900 oe eg 167 +30° - 2x16x30 % cos 60
M1dep
27 or Y1156 or 34
52 x their 34 or 1768 oe
if M1MO their 34 can be any value other
MI1deP | than 16, 30 0r 52
depen 1stM
0.5x30x 16 or 240 M1 o8 29 0.5 x 30 x 16 x sin 90
2008 Al SC3 2248
Additional Guidance
Up to M4 may be awarded for correct work with no, or incorrect answer,
even if this is seen amongst multiple attempts
27 The 4th mark in Alts 1 and 2 is not dependent on any other marks
cont

34 or 1768 or 240 may be on the diagram

SC3is for using 30 x 16 for the area of the triangle

Ignore units

125
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27 A shape is made by joining a right-angled triangle to a rectangle.

Not drawn

30em &) 1‘%", accurately

34
LA
s52cm
et
=

5 marks]

‘ S2X34 = M \1b%  (fewangie)

\oX30 - 246 (tANONR)
z

! 1768 +240 = 2008

200%

| Answer

126
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27 A shape is made by joining a right-angled triangle to a rectangle.
Not drawn
30em {fiem accurately
i
,,,,,, 2t
52cm
y§o
Work out the area of the shape.
5 marks]
2 ]
30"+ (6% = qoo + 256
- (s = z¢
Sex?2 s - ¥s0
A=Zoxb
- 430 2
= t«o
8o t2wo - 4o%0
Answer 1o 7’0 cm?
r
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27 A shape is made by joining a right-angled triangle to a rectangle.
Not drawn
30cm 16cm accurately
Z4om
|
|
52cm
Work out the area of the shape.
[5 marks]
Toiangle = 30 416 =240cm
z
r:(}ﬂnsl(
i 52 %30 = 1560(m Z40 % 1560 1300
| |
1 |
|
|
|
Answer \300 om? ‘

o
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S4

27 A shape is made by joining a right-angled triangle to a rectangle.
Not drawn
30em 16em accurately
24y
| 2
‘ s2em| 6 2 g
bro
Work out the area of the shape.
l16x30 = «Fo [5 marks]

=Cx

YNE  zp?elgi= 1156

P 4
G2y It = &4

E244240=36% (m"

Answer 6 LF  oaw?
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a
27 A shape is made by joining a right-angled triangle to a rectangle. J
Not drawn
SO, 16cm accurately
25 Hep
52cm
Work out the area of the shape.
[5 marks]
Am_%_gﬁkuye_w . B AR
‘ #y
Tz - =
2 _ 3
30t = \C" =QUg 254 x (6 ~2-263.2

\Ghly =2S.4

B WA S ASl= (3R

(320 B-2=6D
Qi L BEo0zes 563

Answer 8 !; & Q om?
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27

A shape is made by joining a right-angled triangle to a rectangle.

O Y Not drawn
e 16em accurately
Aed N\ A
52em SR e
Work out the area of the shape.
[5 marks]

Osea oy ¥xiougre = = 8xw

avta. 0\ {(ecxaugle = Boow

TSI
/08
IoA) e AL
Juse =0k

P

( \\kﬁmuol\joms D

ban
Siyseditug cun ) ¥y two= \kfy
& o i § & S
oXeo og
TecxOngle afeo 0§ tvonugle =
140 CwN®

AQAE
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A shape is made by joining a right-angled triangle to a rectangle.

27
Not drawn
accurately
Work out the area of the shape.
5 marks]
e aait=c2- .
=
nefar20’ o = 2gen? i B
Answer om?
AQAZ
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June 2022 8300/2F Question 28 & 8300/2H Question 5

28 Solve 5(2x—1)=6x+9

[3 marks]

Q Answer Mark

Comments

10x -5 M1

may be seen in a grid

their 10x —6x =9 + their 5

oe eg their -5 — 8 = 6x — their 10x

T or 3% or % ar 3% or 3.5 Alft

or or 4v—14=0

28 4x=14 M1 collecting two terms in x and two
of constant terms correctly
14+40r7=2
14 oe

ft MAMO or MOM1 with exactly one error
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Additional guidance

Additional Guidance
Ignore simplification or conversion if correct answer seen
Correct answer from trial and improvement MIM1AT
Correct equation with terms collected or division with no o incorrect answer | M1M1AQ
Embedded 3.5 with no or incorrect answer MIM1AD
10r-5=6x+9 M1
10v—6r=9-5 Mo
=1 (exactly one error in line 2) Alft
Tx-5=6r+9 Mo
Tx-6r=9+5 M1
=14 (exactly one error in line 1) Alft
10r-5=6x+9 M1
10r+6r=9-5 Mo
4
2 15 (woerorsiniine 2) RO
cont
10r—1=6r+9 Mo
10r—6x=9+1 M1
x=3 (exactly one error in line 1 but answer does not ft) Aoft
Tx-6=61+9 Mo
Tx-6r=9+6 M1
15 (two errors in line 1) Aot
10r+4=61+9 Mo
10v—6x=9+4 Mo
x=3.25 (neither M mark scored) AOft
10v-56=30x+45 MIMOAOR
Any ft answer must be rounded or truncated to 1 dp or better
The last two marks can be implied without the collection of terms seen
eg10v—1=6x+9andx=25 MOM1A1H
Collecting terms before the bracket has been expanded MOMOAOR
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i oot wrte

| \ox-5 ouitsie tho

28 Solve 5(2r - 1)=6x+9 s

[3 marks]

| Lose ~S = 6% AN

| e —c

\ =

hse — 5= A

| TTTTRSR - - - ==

M = w /= =S

| i B ST 2D

|

| =

|

| ‘

| x= e ]

o
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28 Solve 5(2r—1)=6x+9
[3 marks]

\3@35\5\\ e+
((fs~5 - 5349
e

=
]

136
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S3

| Danotwrite
P
28 Solve 5(2x—1)=6x19 L
[3 marks]
Ux =Y
|Q0x-5=65 +9 x
~63¢ o
o ~5 =49
<5 5
x= \
r
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e B o - Da not write
s
28 Solve 5(2r- 1)=6x+9 el
[3 marks]

Ox -\ = brxG
Lx-1=9 —b

+\

- Lx = \© -
R 2SS =%

=19

o
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Do nat wita

28 Solve 5(2x—1)=6r+9 =
[3 marks]
5 (,,ZDC:Q,},G,,QC,J o
0= = iGpE ¥ Q
- re2C
| e V=4
{ oy o
X g,
- R ELIE P
i x= Q.65
o
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i D

] ouitside the

|28 Solve  5(2r—1)=6x+9 o

| [3 marks)

0 =S =(CrcrQ )

| o A

| = A4 =9 —

|

L0 = \y = 6o

- ¢ L
ot = =V 000000000000
B X = -3 .S
x= =D

AQAE
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S7

28 Solve 5{2x-1)=6xr+8

et
\0x —| - 6;;: <A

[Ox = bty
[0 -6z Uz

[3 marks]

Yz:§

9(".:’]'. PV ——
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Solve 5(Zx-1)=6x+9

___6C21€J>516Lﬁq“

502X = Gxexl0

Bo ot write
st the.
bax

[3 marks]
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Any questions?

r
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Resources

Take advantage of our extra resources in the ‘Plan’, “Teach’ and ‘Assess’
sections of our website.

GCSE Mathematics

8300

=, Because of the impact of Coronavirus (COVID-19) there are some changes to
how GCSE Mathematics will be assessed in 2022. Find out more.

Find all the information, support and resources you need to deliver our specification.

Teaching from: September 2015
Exams from: June 2017
QAN code: 601/4608/4

Specification Planning resources Teathing resources Assessment resources Key dates.

r
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Get in touch

Our friendly team will be happy to
support you between 8am and
5pm, Monday to Friday.

Tel: 0161 957 3852 @ @
Email: maths@aqa.org.uk
Twitter: @AQAMaths

aga.org.uk

r
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Realising potential

Thank you




